Bl Rt 102 $ 4R E —RHGAR LSH RA%
— R0 » £ 30 )

P 1.Rank the following gases: CO, Ne, CO,, O; in order of increasing time of effusion.
(A)YCO>Ne>C0,>0; (B)Ne>CO>0,>C0, (C)0;>C0O,>CO>Ne (D)CO,>0,>CO> Ne.
2.Predict the geometry of TIFs | :(A)T-shaped (B)Triangular pyramid (C)See-saw (D)Triangular planar.
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T REREE? (He=4 » S=32) (A)56.8 ( B)74.6 (C)28.5 (D)38.8 ¢ *
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(4] EXI AgBr» AgCl 7 Ksp fkZ0E 33107 » 1.2x10 ' ; Ag(NHs),” 5 Ag +2NHs 2 Ke=6.8x107% - SAE/EE
4~57F = ;
£ 4.AgBr{E 2.0M NH; 2 BB (A)5.7+107M (B)2.0M (C)3.3x10"3M (D)6.8x10°M (E)4.4x10°°M
C 5.AgClAE 0.10M NaCl HEARRIE A7+ mol/L? (A)1.1x10° (B)1.2x107"° (C)1.2x10° (D)4.2x10°(E)L |- &5k »

A 6. 70 X EE L EAE X2+ﬁ RiREELR » EerE (SRR S 7720 B2 8042 > BELEE 3 7 BT E X HFE S
fa] ? (A) 24.3 (B) 24.7 (C) 12.15 (D) 12.35 »

C 75747 815 80.0g » FIFIREEEREEE 100 mL 2 AGEH » BES 10 mL - ikl 0.20 M KMnO, 85 - B& 8%
fRFFI A KMnO4 7K 40 mL - SRILERGLNE ? (Fe=56) (A) 7% (B)149% (C)28% (D)56% -
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C 0REBASVENKRZER » HOFEEES R 760mmHg « G2 SBIRGE » FRBRE » EE—ERIE TR
A5 1500mmHg » HIIfE R KIEFEE S (A)760mmHg (B)60mmHg (C)20mmHg (D)10mmHg *
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AE 125 ASREETT Ry T6cmHg » AR ( BERUR 1om®) » ZEIRZE RAERIREE 20cm » THIfEFIERE ?
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HE | XIFEE (M) | [R5 (M) |z ZREEESR(M/min)
1 1.20 1.52 3.2x107
2 0.60 0.76 4.0x107
3 2.40 0.38 4.0x10”

(el r=kx]'y)
@) EAR r=kXPly] (O MR 4
(D) 2 27 AR i k z=2.30 %107 M min™
E)RIE X ZMEEMRE kx=5.77 x10° M?min’!
O 1A TS0 AT K2 2 T ST =) VC R B » LROI el TEHE 2
(A)FZ TR TR 1 B (9 R B 2. o DAMEFTEE LR
(B)baf e AR BRGSO E » B
(C)if% 1 SEE PRI VEARSE /K% - % 3 SLE@RILINA RESE 4
(D)L —FEE EE » Sy
(E)HER A BT 88 » | SEECAING » 7R 2 SUERER @INA fl o b

=~ JREAEA (30 )
15. 1.0% 9 CH3COOH oq) » HEE[ B B — 0.372°C » K EMRHERS K25/ 9% « (10%)

16. L1 0.10M NaOH FEAESAHEN T 20.0mL 0.10M HoA Y551 ¢ B 55HT 20.0mL Ho A JATEE A 250mL §ETGIET » HOA =50
AE G - AR 0.10M NaOH FEASANE » B IR 2 Bt b (o 1k o 5 -
(B4 : HoA 2 Ko=1x10 " » Kyp=1x10"" ; 10g2=0.3 » log3=0.5)(20%)
(V)RGERT » SERZIE R 2R pH I k250 2
(2)HA 10.0mL 0.10M NaOH FEAGZGRIY - HAHEIN pH {2520 2
(3)IOA 20.0mL 0.10M NaOH AE#753065 - HAWERY pH {H A%/0 7
(4)YI0A 40.0mL 0.10M NaOH A0 » LAY pH 1A% ?






